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. 2R+ 150, — 12C0.+ 6H.0 A=

2. L/NO;_ + ZH),O + Oz E— L,D D=

3 HE + 50, — 4LNO + 6H:0 E-

b 05+ 36 — 1Fe+3C0, G-=

b OB+ §NH;, — 6T + N, J=




17J4£2@J3 “! 9'-I S “:[ I “! I“s

Il ol gl Blyial Jeldit Gylektl ol Jay
1 CsHy 1CaHy +50, — 300, +*4H,0

2. CSH:z &SHIZ + 802. —2 5602 +6Hzo

3. Ca“qo 1 CbH{o + 86 Oz — 6002 + 5H20

b CHyCHs 1(;H, +350, —2C0: +3H,0

5. CroHe 1CoHy+ 10, — i COz. +2H,0

6. Cukho 1Cutso + 150, — 40, + 15 H,0

7. CHeO 1C:H0 + 30, — 200, + 3H.0

8. CoHi2O, 406“!205 +60,.— 6002"' 6Hzo

. CHyO 1CHO * 150, — 4C0, + ZH,0

10. 03”!3 40&"‘!& +425 Oz — 800: + qHzO

M. CHsCHaCH20H 103H80+ Ll'SOz — 3602 + L’Hzo

1. Cm H3q05 402I H}QOS + 28.25 OZ — 21002 +145 HZO




Y Jloew
ebeass Je LG (331 o pad (adars s JS (o3
?2A,D,E,G,J o sl/ (i85 oa Ls

1. ‘_zﬁ_"" 50, — 1200, + 6/"10 A= CoHe .

—_— T
12¢ 12H 200 12C~12H 300

2. L/NO;_ + ZH)_O + 0 — LD D: HN03 .
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4N 4H 120 LINTH 120
3 HE+50, — A4NO + 6H:0 E= _NH
4NC12H 100 4N 12H 400
b R05+36 — 1Fe+ 500, G=_C0
2r 30 20 X 2 3( 60
5 3Br+ 8NH; — 6T + N J=_NHiBr

bBr 8N 24H " LBr 6N 24H 2N



